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QUESTION 1

Your MySQL environment has asynchronous position based-replication with one master and one slave.
The slave instance had a disk I/O problem, so it was stopped.

You determined that the slave relay log files were corrupted and unusable, but no other files are damaged.
You restart MySQL Server.

How can replication be restored?

A. The slave relay logs should be deleted; then execute START SLAVE;

B. The relay logs from the master should be used to replace the corrupted relay logs.

C. The slave relay logs should be deleted; execute CHANGE MASTER to adjust the replication relay log file name, then
issue start SLAVE;

D. The slave needs to be restored from backup.

Correct Answer: B

QUESTION 2

Which three sets of item information are visible in the mysql system database? (Choose three.)
A. help topics

B. performance monitoring information

C. plugins

D. information about table structures

E. audit log events

F. rollback segments

G. time zone information and definitions

Correct Answer:. ACF

QUESTION 3

On examination, your MySQL installation datadir has become recursively world read/write/executable. What are two
major concerns of running an installation with incorrect file privileges? (Choose two.)

A. Users could overwrite configuration files.

B. Data files could be deleted.
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C. SQL injections could be used to insert bad data into the database.
D. MySQL binaries could be damaged, deleted, or altered.
E. Extra startup time would be required for the MySQL server to reset the privileges.

Correct Answer: BE

QUESTION 4

Which two methods allow a DBA to reset a user\\'s password? (Choose two.)
A. ALTER USER statement

B. mysql_secure_installation utility

C. SET PASSWORD statement

D. mysgladmin client program

E. GRANT statement

Correct Answer: AC

QUESTION 5

Which three are types of InnoDB tablespaces? (Choose three.)
A. redo tablespaces

B. encryption tablespaces

C. schema tablespaces

D. data tablespaces

E. undo tablespaces

F. temporary table tablespaces

Correct Answer: BDF
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